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>>> tuplel = ()

>>> tuple2 = (1,)

>>> tuple3 = (1,2,3)

>>> tuple4 = tuple(‘abc’)

>>> tupled

(2, b, ")
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>>> tuple2. add (tuple3)

(1,1,2,3)
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>>> t
(1,1,2,3,4,3,5,4,6,7,7,7,3,1)

>>>t.count(1)

3
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class dict(**kwarg)

class dict(mapping,
**kwarg)

class dict(iterable,
**kwarg)
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>>> a =

dict(one=1,two=2,three=3)
>>> b = {‘one’: 1,’two’:

2,’three’: 3}

>>> c =
dict(zip([‘one’,’two’, three’],[
1,2,3]))

>>> d =
dict([(‘one’,1),(‘two’,2),(‘three
*3)]) ,

>>> ¢ = dict({‘one’:

1,’two’: 2,’three’: 3})

>>> g==b=—c=—d=—¢

True
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>>>d

{‘three’: 3, ‘one’: 1, ‘two’:
2}

>>> d[“four’]=4

>>> del d[‘one’]

d TSI A ‘one’ -
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>>>d

{‘three’: 3, ‘four’: 4, ‘two’:
2}

>>> ‘four’ in d

True
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TP OIRC oy (A |

>>> ‘one’ not in d

True
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>>> d.clear()
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>>> d = a.copy(
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>>> d
{‘three’: 3, ‘two’: 2, ‘one’:
1}

>>> d.get(‘one’)

1

get() TIF g -
@7 oy RO & |

>>> d.get(‘five’)

>>> d.get(‘five’,-1)

-1
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>>> d.pop(‘two’)

2
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>>>d

{‘three’: 3, ‘one’: 1}

>>>d = a.copy()

>>>(

{‘three’: 3, ‘two’: 2, ‘one’:
1}

>>> d.popitem()

(‘three’, 3)

>>> d.popitem()
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>>> d.setdefault(‘four’)
>>> d.setdefault(‘four’,4)
4

>>>d

{‘three’: 3, ‘one’: 1, ‘four’:
4, ‘two’: 2}
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>>> keys = d.keys()

>>> keys

dict_keys([‘two’,  ‘one’,
‘three’])

keys() FIRFCTT NN
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>>> values = d.values()

>>> values

dict_values([2, 1, 3])

values() FI*CIT LT
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>>> len(keys)

3
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>>> del d[‘one’]

>>> keys

dict_keys([‘two’, ‘three’])
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>>> values

dict values([2, 3])

>>>n =0

>>> for val in values:

n += val

>>>n

5
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